Exercise

h 2C

Do not use a calculator for this exercise unless stated otherwise.

1. Find the value of each of the following. 8. Find the square roots of each of the following
@) 3 x(-9) (b) -8 x4 numbers.
(©) -7 % (=5) d) -1 x (-6) @) 81 (b) 16
(€) -2(-7) ) -6x0 (c) 25 (d) 100
2. Evaluate each of the following. 4. Evaluate each of the following where possible.
(@) -21+7 (b) 16 +(-2) @ 81 (b) V4
© -8+(-2) iy o (© -9 W) V=36
(e) ]:% ) :'_;f 5. Evaluate each of the following.
' h (@) (-2)' (b) (=5)'
(©) (10" (@ (-0)'
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6. Evaluate each of the following

J
-)l

@ 27 (h) Y64
(© I8 ) Y216

7. Find the value of each of the following.
(@) =55+ (—=10) = 10
(b) =12 - [(-8) = (=2)] + 3
(c) =100 + (—45) + (=5) +20
d) 2+3x15
(€) (=5-2)x(-3)
(f) =25 x (=4) + (=12 + 32)
(8) 3% (=372 —(7-2)
(h) 5x[3x(=2)-10]
(i) -12+[2>-(-2)]

G) J0-3x(=2) 1. 4

8. Use a calculator to check your answers for

Question 7.
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o (-2

.(‘: {._*\g}' [.011 2 —

(- 1)3 = b 2) X (- 2) X (—- 2)

eolidionie
(=5 = (-5) x (- 5) % (—5)
= (225) (=5
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(©) (aloﬂ,)y S I S

i,L’AIO) (~l0) X (~‘°3 X (-19)
+ (100) X (-1t0)

» — looo Ang .
& (-6Y
Colukion: -

e AT A
- _ (+ 36) X (-6)
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G#:}:__ I:(J”OL e valie a'D cach c‘D W/WDOMOwJW

() -55 + (-140)-10
Sol.w{.\cw —‘53 -10-10 =-55 -0

= =19 Ans.
T ,55 _0-10 = —65-10_
= =710 Ans

<€) = 100 _+

SoL«LLoﬂ, g L
~100. _4s - 5 +1o

o 4 (= 45) + (-5) + 20

i" _4us5 -5 +.20
T _ - 450 £ %0

i ,_"150 A’)é_.
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— +42

= 43 Ans : —

@ Solve divide

@ Soﬂve,mdh’})qa,
Salve, addition
Calve Subboction

o (-5-2) x (—3): U

Py

© -1Sx (-4) 5 (-12432) Ag
Solge U SN
=-25 x (02 (2}

e e . e—— e ——— oyttt

= -2 N L) 520
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:37((‘3)(—’5)—-(7"’2_)) ()]qaa

= 2 x (1) = (5

2. X9 - 286
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= 9% .25 = s
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